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124 AFN=AIFH LT H—F 1,460 4,460
425 AV TaWNT
126 ANETTY
127 JI UL 5,100 149 5,249
128 T= )T AT 232 314 546
429 [/~\pRLTay ATV 7 77
430 ALRXYHLT 200 200
431 TUF ALY 2,280 2,280
132 7R 20 20
433 H—/\L 5,750 5,750
434 FXY I 131 431
135 | EUIR9IATFIL 345 345
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
138 AFATTHLY 13 664 1.2 0.12 670
439 3—AF ALYV
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HREZR20 HEHTERI - G b A BRI O Pk H e R CEARB0MEE - R IR) (1. SRR 2 Lo 90 DO 32 Y)0 LT~ 23, 2 S BEREYIE It 25 |

XIGAL T E AEMPEH G (kg/ 4, X AA XLV HHidme-TEQ/4F)
i 1 2 3 1 5 6 7 8 9 10 11 12 13 4 5 | 16 | 17 18 19 20 21 ﬁi}%ﬁ %#%éﬁ
| WA, HEHRD | e | g | TR RV AL B | W= im0 ~ FREE .. | B | % | AVUR | A | SEs ks K - it

& wEAoT | g o g me RPT TR BIRT SO0 T aew | Sl T | | | o | e e PN N

1—AF ) —1—Txz=)L=F )L =bRa~
10 | T 0.003 0.013 0.016
441 2— (1 —AFLTEEN) —4, 6—V=Fr

Jx/)—)v
442 [A7a=)L 135 135
443 [ R/ 2,049 2,049
444 M) 7aX L ARREY 2,798 2,798
445 | JLIRLIAF L 1,804 1,804
446 4, 4’ —AFLLUT =0
g7 ATLVER@ 1o rmaFu L) =Y

VLT H—h
448 f%v/l:xm, 1—Tx=b) =AYy 29 0.19 29

TH—h
449 [T AT 4T 7
450 [EVTFINT 1,426 1,426
451 2= ANF Y —5—AF AT =Y
452 2= ANHT AU F7T—)1 0.42 0.42
453 [EVT T ROZDLEY 2.5 229 0.46 232
454 |2— CEAKY I PFAH) XU S F T — )L 0.056 0.056
155 |EARYL 4.6 25 29
456 [DAALT A=A 56 56
457 [PV RA 608 608
458 [DAMBERIA (2 —=F L~FT L)
159 WABENIA (2— ZaasF L) 0.24 0.24
460 [ ABEN RV 2.1 2.1
461 WAREN 7 ==L 3.1 5.8 8.8
462 WABEN— )V~ N— T F )V

& B 681,236 767,903 4,168 13,864 292,426 0 539,429 105,416 123,702] 13,831 1,555,772 18,261 65,138 _ 2,858| 1,285 377| 1,231 156,274 491 119,116] 2,471 1,028] 4,465,787
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